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1. गंगा नदी पहाड़ों से मदैाऩों में किस स्थान पर 
ननिलती है? 
A. हररद्वार 
B. रुद्रप्रयाग 
C. देवप्रयाग 
D. िर्णप्रयाग 
Ans. A 
Sol. 
* गंगा नदी हरिद्वाि में पहाड़ों स ेमैदाऩों तक गंगा 
नदी ननकलती है। 
अन्य वविल्प: 
a) िर्णप्रयाग अलिनंदा और वपडंर नददय़ों िे संगम 
िा स्थान है। 
b) रुद्रप्रयाग मंदाकिनी और अलखनंदा नददय़ों िे 
संगम िा स्थान है। 
c) देवप्रयाग अलिनंदा और भागीरथी नददय़ों िे 
संगम िा स्थान है। 
 
2. " इकॉनोमिक थ्योरी ऑफ फैमिन" 
___________ द्वारा मिखा गया है। 
A. ववश्वेश्वरैया 
B. अिर्तयय सेन 
C. हरगोब िंद खुराना 
D. अरवविंद सुब्रिण्यि 
Ans. B 
Sol. 
"इकॉनोमिक थ्योरी ऑफ फैमिन" 1981 िें अिर्तयय 
सेन द्वारा मिखी गई थी। 
• इस पुस्तक िें, उन्होंने तकय  ददया कक अकाि न 
केवि भोजन की किी से होता है,  ल्कक भोजन 
ववतररत करने के मिए तिंत्र िें  नी असिानताओिं से 
भी होता है। 
• अिर्तयय सेन 1998 िें नो ेि पुरस्कार ववजेता और 
1999 का भारत रर्तन पुरस्कार ववजेता हैं। 
• उन्होंने "ककयाण अथयशास्त्र" की अवधारणा दी और 
िह ू  उि हक के साथ 'िानव ववकास सूचकािंक' 
ववकमसत करन ेका शे्रय मििा। 
 

3. डाल्टन िा परमारु् ससद््ांत परमारु्ओं िो 
_______ िे रूप में नन्ाणररत िरता है। 
A. अववभाज्य 
B. ववभाज्य 
C. अनश्वर 
D. दोऩों A और C 
Ans. D 
Sol. 
* डाल्टन िे परमारु् ससद््ांत ने प्रस्ताववत किया 
कि सभी पदाथण पिमाणुओं से बन ेथे जो अववभाज्य 
औि अनश्वि बिल्डंग ब्लॉक हैं। 
* जबकि किसी तत्व िे सभी परमारु् एि समान 
थे, ववसभन्न तत्व़ों में सभन्न आिार और द्रव्यमान 
िे परमारु् थे। 
* यह भी िहा गया था कि सभी यौगगि पररभावित 
अनुपात में इन परमारु्ओं िे संयोजन से बन ेथे। 
 
4. ननम्न िें स ेक्या है र की प्रकिया िें उर्तप्रेरक 
(िुख्य स्रोत) के रूप िें उपयोग ककया जाता है? 
A. प्िेदिनि 
B. िोमियि 
C. िोहा 
D. इनिें से कोई नहीिं 
Ans. C 
Sol. 
* िोहे का उपयोग हे र की प्रकिया िें उर्तप्रेरक के 
रूप िें ककया जाता है। 
* है र की प्रकिया नाइट्रोजन और हाइड्रोजन स े
अिोननया के उर्तपादन के मिए एक औद्योगगक 
प्रकिया है, जो उच्च तापिान और द ाव पर िोहे के 
उर्तप्रेरक का उपयोग करती है। 
 
5. भारत किस विण वासेनार अरेंजमेंट में शासमल 
हुआ? 
A. 2016 
B. 2017 
C. 2018 
D. 2019 
Ans. B 
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Sol. 
ववदेश मंत्रालय िे अनुसार, भारत 8 ददसंबर 2017 
िो वासेनार अरेंजमेंट में शासमल हुआ। 
• वासेनार अरेंजमेंट देश़ों िा एि िुलीन क्लब है 
जो, परमारु् आपूनतणिताण समूह और समसाइल 
प्रौद्योगगिी ननयंत्रर् व्यवस्था िे समान हगथयाऱों िे 
ननयाणत ननयंत्रर् िे सलए सदस्यता प्रदान िरता है| 
• अरेंजमेंट में भारत िा प्रवशे पारस्पररि रूप स े
लाभिारी होगा और आगे अतंराणष्ट्रीय सुरक्षा और 
अप्रसार उद्देश्य़ों में योगदान देगा। 
 
6. इंडडयन ओशन ररम एसोससएशन में कितने सदस्य 
हैं? 
A. 12 
B. 22 
C. 52 
D. 62 
Ans. B 
Sol. 
• इंडडयन ओशन रिम एसोससएशन 22 सदस्य देश़ों 
का एक अंतििाष्ट्रीय संगठन है। इसमें 9 डायलॉग 
पार्टनि भी हैं। 
• इसिा गठन 1997 में हुआ था, IORA िे दशणन 
िी शुरुआत नेल्सन मेंडेला ने िी थी जब वह 1995 
में भारत आए थे। 
• दहदं महासागर ररम िे सभी संप्रभ ु राज्य 
एसोससएशन िी सदस्यता िे सलए पात्र हैं। 
 
7. मानव शरीर में सबस ेबडा सलम्फैदटि अंग िौन-
सा है? 
A. नतल्ली 
B. बाल्यग्रन्न्थ 
C. अपेन्न्डक्स 
D. टॉन्न्सल 
Ans. A 
Sol. 
• नत्ली सिसे िडा सलम्फैटर्क अंग है। 
• यह दो अलग-अलग प्रिार िे ऊति़ों से बना है: 
लाल लुगदी ऊति और सफेद लुगदी ऊति 

• नतल्ली मुख्य रूप से रक्त िो शुद्् िरन,े 
रोगारु्ओं िो हटाने और क्षनतग्रस्त लाल रक्त 
िोसशिाओं िे सलए कफल्टर िे रूप में िायण िरती 
है। इसमें सफेद रक्त िोसशिाएं होती हैं, जो संक्रमर् 
और बीमारी स ेलडती हैं। 
• मानव शरीर में सलम्फॉइड अंग़ों में नतल्ली, सलम्फ 
नोड्स, बोन मैरो, थाइमस और सलम्फ ऊति शासमल 
हैं। सलम्फोइड ससस्टम संचार प्रर्ाली और प्रनतरक्षा 
प्रर्ाली िा दहस्सा है। 
 
8. भारतीय अंतररक्ष अनुसं्ान संगठन िी स्थापना 
किस विण िी गई थी? 
A. 1969 
B. 1971 
C. 1975 
D. 1977 
Ans. A 
Sol. 
• भाितीय अंतरिक्ष अनुसंधान संगठन की स्थापना 
1969 में की गई थी । 
• इससे पहले, यह भारतीय राष्ट् रीय अंतररक्ष 
अनुसं्ान ससमनत या INCOSPAR नाम से 
अन्स्तत्व में था। INSCOSPAR िी स्थापना 1962 
में जवाहरलाल नेहरू ने िी थी। 
• डॉ. ववक्रम साराभाई िो भारतीय अंतररक्ष 
अनुसं्ान िा जनि माना जाता है। 
 
9. _________ िा मुख्यालय बैंगलोर में है। 
A. भारतीय रक्षा अिादमी 
B. भारतीय अंतररक्ष अनुसं्ान संगठन 
C. ररज़वण बैंि ऑफ़ इंडडया 
D. ये सभी 
Ans. B 
Sol. 
• भारतीय अंतररक्ष अनुसं्ान संगठन िा मुख्यालय 
बैंगलोर में न्स्थत है। 
• के. ससवन इसिो के वतटमान अध्यक्ष हैं। 
• इसरो िे पहले अध्यक्ष डॉ. ववक्रम साराभाई थे। 
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• िे. ससवन िी अध्यक्षता में चंद्रयान I, मासण 
ऑर्बणटल समशन, इंडडयन नेशनल रीजनल नेववगेशन 
ससस्टम और गगन (GAGAN) प्रमुख समशन हैं। 
 
10. फूि वाि े पौधों िें पाई जाने वािी प्रजनन 
सिंरचना ननम्न िें स ेकौन सी है? 
A. फूि 
B. पत्ती 
C. फि 
D. तना 
Ans. A 
Sol. 
* फूि, फूि वािे पौधों िें पाई जाने वािी प्रजनन 
सिंरचना है। 
* फूि वाि ेपौधों िें यौन प्रजनन िें परागण नािक 
एक प्रकिया िें िादा युग्िकों को नर युग्िकों को 
स्थानािंतररत करना शामिि है। 
* परागण होने के  ाद ननषेचन होता है और एक 
फि के भीतर  ीजाणु,  ीज िें ववकमसत होत ेहैं। 
 
11. Direction: Select the word which means 
the same as the group of words given.  
touching along the side or boundary 
A. harmonious 
B. inconspicuous 
C. unpretentious 
D. contiguous 
Ans. D 
Sol. 
 Harmonious means symmetrical. 
Inconspicuous means visible or apparent. 
Unpretentious means honest. 
Contiguous means touching along the side 
or boundary. 
Hence, option D is the correct answer. 
 
12. Direction: Find a word that is the 
ANTONYM OF  
PIQUANT 

A. peppery 
B. pungent 
C. bland 
D. interesting 
Ans. C 
Sol. 
 Let’s first learn the meanings of the words: 
Piquant = savoury or tasty. Therefore, bland 
is the correct antonym for it. 
Pungent = strong. 
Hence, option C is the correct answer. 
 
13. Direction: Choose the most appropriate 
option to change the narration (direct / 
Indirect) of the given sentence.  
“If the rains don’t stop we will have to move 
the animals to another place,” said the zoo 
official. 
A. The zoo official said that if the rains 
didn’t stop they would have to move the 
animals to another place. 
B. The zoo official said that if the rains are 
not stopping they would have to move the 
animals to another place. 
C. The zoo official will say that If the rains 
don’t stop they would have to move the 
animals to another place. 
D. The zoo official had been saying said 
that if the rains don’t stop they would have 
to move the animals to another place. 
Ans. A 
Sol. 
 The given sentence is in direct form and 
we have to convert it into indirect 
form.Since, the reporting verb of the given 
sentence is in past tense and therefore the 
reported speech will undergo the following 
changes upon conversion: 
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• Present tense of the verb in reported 
speech gets converted into Past tense. 
• ‘Comma’ is replaced with ‘that’ 
• ‘Do’ is replaced with ‘did’ in past form. 
• Pronoun ‘We’ is replaced with ‘They.’ 
• Modal ‘will’ gets converted to ‘would.’ 
Out of all the alternatives, only option A 
adheres to the given rules. Hence, option 
A is the correct choice. 
 
14. Select the word which means the same 
as the group of words given.  
One who studies human societies and their 
culture 
A. pharmacologist 
B. anthropologist 
C. pathologist 
D. astrobiologist 
Ans. B 
Sol. 
 Pharmacologist – one who is trained in 
science of drugs. 
Anthropologist- one who studies human 
societies and their culture 
Pathologist - one who specializes in 
medical diagnosis. 
Astrobiologist – one who specializes in 
exobiology. 
Hence, option B is the correct choice. 
 
15. Direction: Select the segment which 
has an error.  
Each film will be checked by a government-
appointed censor board along public 
exhibition. 
A. by a government-appointed censor board 
B. will be checked 
C. along public exhibition. 
D. each film 

Ans. C 
Sol. 
 Along is the incorrect preposition which is 
used here. It should be replaced with 
preposition ‘at’ to make the sentence 
grammatically correct. Hence, option C is 
the correct answer. 
 
16. Given below are four Jumbled 
sentences. Pick the option that gives their 
correct order.  
A) There is a story about an ancient Indian 
sage who was called ugly names by a 
passerby. 
B) The sage then said, “Well then, I have 
not accepted your offering” and walked 
away. 
C) He finally asked the man, “If an offering 
is not accepted who does it belong to?” at 
which the man replied, “To the person who 
offered it.” 
D) The sage listened unperturbed till the 
man ran out of words. 
A. ACDB 
B. ADCB 
C. CABD 
D. DCBA 
Ans. B 
Sol. 
 The correct rearrangement is ADCB. 
The first sentence is A which is the opening 
sentence of the story that introduces us to 
the subject ‘A sage who was called names 
by passerby’. 
Hence, option C and D can be eliminated. 
The second sentence will be D where the 
reaction of the Sage to the abuses is 
recorded. 
Hence, option B is the correct answer. 
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17. Choose the most appropriate option to 
change the narration(direct/indirect) of the 
given sentence.  
Ram said, “I cannot come at this time."A. 
Ram said that he could not come at that 
time. 
B. Ram told me that he could not come at 
that time. 
C. Ram told that could not come at that 
time. 
D. Ram told him that could not come at 
this time. 
Ans. A 
Sol. 
In indirect speech "says to" is converted to 
"tells" and "said to" is converted to "told". 
As in this question “said” is not followed by 
any object therefore, there will be no 
change in the reporting verb i.e. said. Here, 
subject “I” will be changed to “he” as per 
the rules of narration. “Cannot” is in present 
form, so it will be changed to “could not”. 
In narration “this” is changed to “that” and 
“these” to “those” while changing a 
sentence from direct to indirect form. 
Hence, option A is the correct answer. 
 
18. Direction: Select the segment which 
has an error.  
It is estimated that most of the addict, a 
whopping 85%, in God’s own country 
Kerala, are below 25 years of age. 
A. most of the addict 
B. a whopping 85% 
C. are below 25 
D. It is estimated that 
Ans. A 
Sol. 

 ‘Most of the’ takes plural subject after it. 
Hence, ‘addict’ should be replaced with 
‘addicts’. Therefore, option A is the correct 
answer. 
 
19. Direction: Choose the most appropriate 
option to change the voice (active/passive) 
form of the given sentence.  
To be a good speaker you need to 
memorize these speeches. 
A. To be a good speaker these speeches 
need to be memorized by you 
B. To be a good speaker these speeches 
being memorized by you. 
C. These speeches will be memorized by 
you to be a good speaker. 
D. To be a good speaker these speeches 
need to memorize by you. 
Ans. A 
Sol. 
 Here the sentence has two parts of which, 
we will convert only the latter part into 
passive form. The given sentence is of 
active voice and it uses a modal verb. The 
structures for active/passive voices for 
modal verbs are: 
Active: Subject + modal verb + verb (Ist 
form) + object... 
Passive: Object + modal verb + be + verb 
(IIIrd form) + by + subject... 
So, with the help of the above structures, 
we can convert the given sentence into 
passive voice: To be a good speaker these 
speeches need to be memorized by you. 
Hence, option A is the correct choice. 
 
20. Read the following passage and answer 
the questions that follow. 
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This very world of ours is inhabited by more 
than seven billion people and if animals, 
insects, trees and other sentient beings are 
also taken into consideration, the number 
would be staggering. And so the 
impracticability of maintenance of such a 
stupendous record puts a question mark on 
the very existence of Chitragupta. 
Underlying this allegory is an interesting 
philosophical concept. 
Human consciousness is endowed with 
external and internal organs for receiving 
and processing information from the 
external world. The five senses and five 
motor organs constitute the external 
instruments. It is with these 10 implements 
that we interact with the world external to 
us. The Antahkarana or the internal organ, 
which enables us to process the information 
received from sense organs and turn 
sensation into perception, is functionally 
classified into four aspects: mana, buddhi, 
chitta, and ahamkara. 
Mana is the mind that coordinates the 
senses and performs lower-order 
processing. The aspect of the mind that 
has the ability to discern is called buddhi. 
Chitta is the storehouse where the karmic 
impressions created out of emotional 
involvement while performing an action are 
stored. It is the subconscious region which 
lies more or less shrouded from the 
conscious mind and is activated during 
dreaming and deep relaxation. The 
expression ‘chitta’ is the distorted and 
vernacular form of the Sanskrit term chitra, 
which means wonder-evoking. Another 
interesting meaning of the term ‘chitra’ is 
imagery. 

Since this storehouse of karmic impressions 
made up of mental imagery is wonderful, it 
is called Chitra and since it is hidden from 
the active conscious mind, it is called 
Gupta. Thus, the reckoner of our past 
deeds, ‘Chitragupta’ is indeed none other 
than our subconscious which has been 
witness to our past actions, storing subtle 
impressions relentlessly. Amnesia or the 
nature of the mind to forget is personified 
as Yama, since death is nothing but a 
forgetting of our identities and past 
associations. 
We are what we identify ourselves and 
associate with. If these connections are 
severed, we call it our death. Indra, the 
king of gods is the personification of mind, 
the lower order processing mechanism. He 
commands the deities — indriyas or senses. 
He is guided by buddhi or his preceptor 
Brihaspati, the higher-order discerning 
power. 
Ahamkara is likened to the sacred bull 
Nandi with its two horns of liking and 
aversion. Like any bull, it has tremendous 
power but is often lazy and inactive due to 
the overpowering effect of Tamo guna. Only 
when it is charged is its true potential 
revealed. It sits in front of the immortal 
Shiva, the Supreme Consciousness. 
Whenever the Supreme Consciousness 
wishes to indulge in the mundane world, he 
rides on Nandi and descends to the 
physical world. The consciousness makes 
use of Nandi to descend to the physical 
plane where Indra, the mind, and devatas, 
the senses, stand in reverence to receive 
his command and execute it. The whole 
process of sensation, perception, lower and 
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higher-order processing, memory, 
forgetfulness, ego substance and immortal 
consciousness is beautifully presented in an 
allegorical fable in the Puranas.  
What does the Supreme Consciousness do 
when he wishes to indulge in the mundane 
world? 
A. He rides on Nandi and descends to the 
physical world. 
B. He leaves his place and go for a walk. 
C. He talks to people of the physical world. 
D. He participates in the daily activities of 
the physical world. 
Ans. A 
Sol. 
 It is clearly mentioned in the passage that 
whenever the Supreme Consciousness 
wishes to indulge in the mundane world, he 
rides on Nandi and descends to the 
physical world. Hence, option A is the 
correct answer. 
 
21. एि िूट भािा में, ‘ACCOMMODATINGLY’ 
िो ‘DDBNNPBEPOJUZMH’ िे रूप में सलखा 
जाता है। तो उसी िूट भािा में 
‘ACCESSIBILITIES’ िो िैसे सलखा जाएगा? 
A. DDBTJCJUJMTFTFJ 
B. DDBTTFJCJUJMTFJ 
C. FJCJUJDDBTTMTFJ 
D. MTFDDBTTFJCJUJJ 
Ans. B 
Sol. 

 
Hence, the correct answer is option B. 

 
22. न्जस प्रिार ‘अंडे’, ‘ओलॉजी’ स ेसंबंग्त हैं उसी 
प्रिार ‘वविारु्’ किससे संबंग्त है। 
A. तान्त् विी 
B. जीवववज्ञान 
C. वगगणिी 
D. वविारु् ववज्ञान 
Ans. D 
Sol. 
As, Oology is the branch ornithology that 
deals with the study of Egg, in the same 
way Virology is the branch of Science that 
deals with the study of Virus. 
Hence, the correct answer is option B. 
 
23. ददए गए वविल् प़ों में स ेउस संख् या-समूह िा 
चयन िरें जो ददए गए संख् या-समूह िे समान है। 
(8, 7, 75) 
A. (12, 18, 96) 
B. (6, 9, 69) 
C. (5, 8, 19) 
D. (11, 25, 143) 
Ans. C 
Sol. 
As, 
(8+7)2-150=152-150=225-150=75 
Similarly, 
(5+8)2-150=132-150=169-150=19 
Hence, the correct answer is option C. 
24. ननम्नमिखखत प्रश्न िें ददए गए ववककपों िें स े
सिं िंगधत सिंख्या को चुननए| 
12 : 68 :: 21 :? 
A. 49 
B. 119 
C. 117 
D. 79 
Ans. B 
Sol. 
As 
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12 : 68 
4 x 3 = 12 
4 x 17 = 68 
21 : 119 
7 x 3 = 21 
7 x 17 = 119 
Hence, option (C) is the correct answer. 
 
25. ननम्नसलखखत चार शब्द़ों में से तीन एि ननन्श्चत 
तरीिे स ेएि-समान हैं और एि सभन् न है। वविम 
िा चयन िरें। 
A. मूल्यवान 
B. बहुमूल् य 
C. बडा 
D. महंगा 
Ans. C 
Sol. Valuable, Expensive and costly have 
same meaning. But ‘big’ does not relate to 
them. 
Hence, option (C) is the correct answer. 
 
26. आिृनत में, यदद ∠A = 100oहै, तो ∠C =? 

 
A. 100o 
B. 80o 
C. 50o 
D. 90o 
Ans. B 
Sol. 

 
चूूँकि, ABCD एि चक्रीय चतुभुणज है और चक्रीय 
चतुभुणज िे ववपरीत िोनो िा योग हमेशा 1800होता 
है। 
इससलए, ∠A + ∠C = 1800 

∴∠C = 1800 - 1000 = 800 
 
27. दो िारें A और B ददल्ली से क्रमशः सुबह 8:30 
बजे और सुबह 9 बज ेसशमला िे सलए ननिलती हैं। 
वे क्रमशः 40 किमी / घंटा और 50 किमी / घंटा िी 
गनत स ेयात्रा िरती हैं। ददल्ली से कितने किलोमीटर 
दरू दोऩों िारें एि दसूरे स ेसमलेंगीं? 
A. 45 किलोमीटर 
B. 5 किलोमीटर 
C. 200 किलोमीटर 
D. 100 किलोमीटर 
Ans. D 
Sol. 

 
चूूँकि, िार A आ्े घंटे पहले ननिलती है 
गनत (िार A) = 40 किमी/घंटा 
आ्े घंटे में तय िी गई दरूी = 20 किलोमीटर 
आरेख िा ध्यानपूवणि अध्ययन िीन्जये 
िार A और B िो एि ही समय में एि ही र्बदं ुपर 
पहंुचने िे सलए क्रमशः x किमी और (20 + x) किमी 
िी यात्रा िरनी होती है। 
∴ िार A द्वारा x किमी िी यात्रा तय िरने िे 
सलए सलया गया समय = िार B द्वारा (20 + x) 
किमी िी यात्रा तय िरने िे सलए सलया गया समय 
⇒ x/40 = (x+20)/50 
⇒ x = 80 किमी 
∴ अभीष्ट्ट उत्तर = 80 + 20 = 100 किमी 
 
28. दी गई आिृनत में, MP, A िें द्र वाल ेवतृ्त िी 
स्पशणरेखा है और NQ, B िें द्र वाले वतृ्त िी स्पशणरेखा 
है। यदद MP = 15 सेमी, NQ = 8 सेमी, PA = 
17 सेमी और BQ = 10 समेी है, तो AB िी लम्बाई 
ज्ञात िरें? 

 
A. 23 सेमी 
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B. 13.5 सेमी 
C. 28 सेमी 
D. 14 सेमी 
Ans. D 
Sol. 

 
यहाूँ, AM ⊥ PM और NB ⊥ NQ है (वतृ्त िी 
स्पशणरेखा स्पशणरेखा िे संपिण  र्बदं ुपर वतृ्त िी र्त्रज्या 
िे साथ एि समिोर् बनाती है) 
समिोर् ∆PMA में पाइथागोरस प्रमेय लाग ूिरन े
पर 
AM2 = PA2 – PM2 = 172 - 152 = 64 
∴ AM = 8 सेमी 
समिोर् ∆QNB में पाइथागोरस प्रमेय लाग ूिरन े
पर 
NB2 = BQ2 – NQ2 = 102 - 82 = 36 
∴ NB = 6 सेमी 
चूूँकि, AM = AC (िें द्र A वाले वतृ्त िी र्त्रज्या) और 
NB = CB (िें द्र B वाले वतृ्त िी र्त्रज्या) 
∴ AB = AC + CB = AM + NB = 8 + 6 = 
14 cm 
 
29. दी गई आिृनत में, ∠BAC िी माप ननम्न में 
से क्या होगी? 

 

A. 56o 
B. 58o 
C. 62o 
D. 48o 
Ans. D 
Sol. 

 
किसी र्त्रभुज िे बाह्य िोर् िे गुर् िा उपयोग 
िरन ेपर: 
∠BAC + ∠ABC = ∠ACD 
∠BAC + 620 = 1100 
∴ ∠BAC = 480 
 
30. (2y – 5)3िे ववस्तार में y िा गुर्ांि ननम्न में 
से क्या होगा? 
A. 50 
B. -30 
C. 150 
D. -150 
Ans. C 
Sol. 
यहाूँ, सूत्र िा प्रयोग िरन ेपर: (a – b)3 = a3 + (-
b)3 + 3(a)2(-b) + 3a(-b)2 
(2y – 5)3 = 8y3 – 125 – 60y2 + 150y 
∴ y िा गुर्ांि = 150
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